ORDER OF MATH OPERATIONS WITH NUMBERS -20 TO 20 (E-4)
CHALLENGE

Name:

Time:

441)

(7T—16) = (5—19— (=17)) X 54 (=9) +19 — 6 = 3 =

24+8—(((9+(=8)+8+4)x6x (=1)=(=9)) —(=3) =

443)

(124 (=8)) + 18 = (=3)) — 11+ (10 + 2) = (48 = (—8)) +2 =

444)

(12+6)+0x1+(((20 =10 = (=2))) + (—4)) - 10— (=2) =

445)

(30 +5)+(15+ (—16))—((9+ (—14) +2 — 10+ 12) — (—14)) =

446)

(20 + (—18)) x (6 — 6) = 8 = 16 = (—8))+(((63 = 9 — 6))) =

447)

(114 (=10))—=((8 =9) x (—18)) —1x3—=(=3)—4+(—1) =

448)

(((20 = (—=10) + 15+ (—=15))) — (=5))+15+(—6)+(18 = (—3) + (—4
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